chx = coshx shk= sinkx

th x = tanhx
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'x+ ix

COSX =

cos(ix) = e_X; ¢

ix

iX

. e
sinx = _
2
s )
sin(ix) =
(ix)==—
_ €-¢e"
2i
eX e—X




# $ % & #

(
( '
A
) ( (cos 6, sin 6)
* % )
(
( | -
+
o1l 11 1 1
r g I
# 3 4
- 2
( ( 2 + (cosh g, sinh 6)
* 3 1
4
5 6
( ) B
+
= o
=3
N J
o1l 11 1 1
( % ( (
( 4 7 (
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sinhx coshx

costf x- sinfi x=

)
cosi x- sinfxe £ 1€ 2_ é‘-z'ex 2
_(ex)2+2€ex+( -eX)Z (é)2_ 2 é'é(+( éz
= ) ] ‘
_e+2+e* &-2+ ¥
) 4

P NN
1

4
-2
4

cost (x)- sinfi(x)= ( Co@ix))z- (i si(ix))z
= cog (ix) + sirf (ix)
=1
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3 (-

coth? x
1+ sinkf x

coth x _ cotH x
1+sinfx  cosfx
_cosltx 1
" sint? x cosh x
1

sinh? x
=csch x
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xV
|
=
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yi
y = tanh(x)
y=1
t + -
-1 1 X
_________);____.1_
yi yi
= sech(x »
Ju 11 \J = ¢csch(x)
A T X ' 1 X
=1+ 1
000 3 . .11 1 11
3 4 8 5
sinh (1)
I cosh (2)
" tanh (3)
# sech (1)

$ csch(2)
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% coth (2)

? 3

& coshx+ sintx=¢
' coshx- sinhx= €*
( sinh(- x)=- sinKx)
) cosh(- x)= cosfix)
tani? x+ sechx =
| sinh(x+ y) = sinhx coshy+ coshk sink
cosh(x+y) = costx cosly+ sink siny
# cosh(x+y) = cosh cosly+ sink siny
$ (coshx+ sintx) "= cosk- sink

tanhx tanhy
1+ tanhx tanhy

% tanh(x+y)=

& (coshx+ sinhx)n = coshx+ sinhx (indice : utilisez l'identité de I'exercice 7)

# coshx
d(coshx) _ld(eX + éx)
dx 2 dx
e o)
=sinhx
# sinhx
d(sinhx) _1d(e- &)
dx _E dx
“Aere)

= coshx
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sinh x coshx
d(coshx) I d( sinhy) e
dx dx
?)
sechx
d(sechx) _ d( cosh<)'1
dx B dx
= - (coshx) *( sintx)
_ 1 sinhx
coshx coshx
= - sechx tankx
tanh x* cothx* sechx cosechx
d (tanhx) _ sech x d( cothx) _
X dx
d (sechx) el (e d( csch@z .
dx dx
3
)
? ) -
@

y = 3sinh( 5¢)

oshx

- cschx

csclk cotk
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%’ =3(cost( 5))( 1&)

X:30x><cosl( 5¢)
<LLLLL L L L L LK
(
coshxdx= sinhx+ C sinhxdx= cosh¢ C
sech xdx= tanhx+ C cséhxdx=- cothe C
sechx tantxdx=- seck C csch cotkdx -  cseh (

5cosh X+ §dx

u=3x+8

du=3dx
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5cosh X+ §dx= 5cos(1u)%
:§sinh(u)+C
3

:gsinh(aﬁ g+C

<LLL L LLLL L L L

B 2 tanhx.
tanhxdx= sinhx dx
coshx
u =coshx du =sinh xdx
sinhx dx= ﬂj
coshx u
:In|u|+C

tanh x

tanhxdx= Inj cosh}+ C

sinh 5
cosf( x“)
X2 tanhy/x
2
coth;

secr( x2)

X2 +4
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% cschf ( X)
& In(cosh( X))
coshy 3¢+ X+ 2

1
tant? (x) + 4

) arctar( sinifx))

sinh( 2+ Jdx
coshx

1+ sinhx

NG sinh( x3) dx

sinh\/;
Jx

1
$ sinh? ( ) dx

%  cothxdx

dx

& sinhx coshxdx

cosh xdx
sinhx dx
1+ cosHf x
)] sinhx sech xdx
@ ( 4 8 5A
y=cosh x
y
6+
S5k
2l
N
2+
-
L L L L L L x

. 6?2 C D
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X =coshy
E
y =arcoshx
x=coshy ® y= arcoshx
x=sinhy ® y= arsinhx
x=tanhy ® y= artantx
x=sechy ® y= arseclx
x=cschy ® y= arcschx
x=cothy ® y= arcothx
arl 4 arcoshx, arsinhx,..5
arc-4 arccoslx, arcsinhx,..5
- arc-
( &
- arg- 4 argcoshx, argsinh x,..)

- a-4 acoshx, asinhx,..5 (
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cosh2xb

cosht x sinhit x

arcoshx arsinh x

X =coshy
e+e’
X=
2

e-2x 6= 0

(ey)z- 2xeé+1=0

e #

y_2XEAAXC - 4

er=f2 Y 7
2

& = xty ¥ -1
Y=In(Xi X -1)

y=i|n(x+ )(2_1)




# $ % & #

46 ( G arsinhx (
(
( H 2
x31 arcosix.)
$ I
4* 3
5
AY AY

y=cosh'x y=sinh~'x

=
¥

y=tanh'x y = coth~' x
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A ‘ A ,v
3 ~
| -d N
y =sech ' x y=csch'x
000 dJ . 181 11
! !
( arsinhx
(
y = arsinhx
x=sinhy
dx
— =coshy
dy

g—;:\/l+sinhzy
2( =41+ X2

dy
dy__1
dxX 1+ x?
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u=x/a

d(arcoshx) 1

dx  Jx-1 x>1
d(arsinhx) 1
dx - \/)(2 +1
d (artanhx) _ 1 X <1
dx 1- ¥
d(arcothx) _ 1 X >1
dx 1- X
d(arsechx -1
( o ) = o O<x<1
d(arcschx) -1 .
dx |1+ R
% L

d(arcoshu) 1

du -1

du=arcoshu

1
Ju?-1

4d1 (2) =arcosh X

(-1 :

o [
N

1 dx=arcosh X
(x)-12 2

! dx=arcosh X
() - 1ea *
;dx =arcosh g

VX2 - a2
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;dx:arcoshf +C ou I(1x+\/x°'- af)+ C

X - a a

;dx:arsinhz +C ou I|6x+ >3+ef)+C
x? + a? a

21 2dx:EartanhZ +C X<d
a’- x a a
21 2dxzéarcothZ +C X >d
a’- x a a
! dx:-iarsechZ + C kx<a

xva’- X a a

arcosh > = Ir(x+\/x2- a2)
a

2

-1

X
a
i
a

=In(x+\/x2 - a2)+ in 1

a

)
o | x

1
5
I

[a}}
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y= xarcosl( X+ ).

Qzlxarcost( ]° +). +X !

X (3x¢+1)" +1

(8

6x°

= arcosl( X+ ).+
ES +1)2 +1

<LLLLLLL L L L L L L < L L

3dx

VOXZ +12x- 12

J(3x+2)- 16

u=3x+2

du=3dx
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#(

Ju?-16

=arcosh u +C
4

du
Ju?- 16

3dx 3x+ 2
=arcosh +C
VO +12x- 12
<LLLLLLLLLLLLLLLLLLL
(
H ( (
(
. H , )
(H ) (
F =0,4902°
H %
Friction - (H
' mg- I:frection: ma
o 49N - 0,49 = Kgxa
l 9,8m- 0,098 Vv’= a

mg
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9,82 0,098 \?= %’

gt = dv :
9,8m- 0,098 v

dv

9,83%- 0,098E;v2
500m dv

dt = ~
49 100%- v

49 107

S S

t :ﬂsartanh v +C
49 10m

S

M! 2 #

107

v=102 tanh a
50s

v =102 tanh 49>

=9,61x
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3 4 8 5
arsinh (1)
arcosh (2)
artanh (%2)
? 3 arsect{x) = arcosh1
X
1
? 3 arcsch{x) = arsinh=
X
1
? 3 arcoth(x) = artanh=
X
arsech (%)
arcsch (3)
arcoth (2)
? 3 1 N-N
artanhx :l In ﬂ
2 1- X
3 -

? 3 1 N-N
d (artanhu) 1

du 1- &

arsinh X
arcost( x“)

X2 artanhy/x

arcothg2
X

arsecl( x2)

X2 +4
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& ? 3 X f (x) =8coshx- sintx

xv4- X
" 1
! ————dx

VX% +2x+10

W T dx

°Jo9x*+12x+ 5
I$ & 3

secxdx= artanfi sin)+ C

cscxdx= artanif cog)+ C

1% B H -M: 4
5 # H )
( (H ; (H
) 4: 15 ( )
7 (H )

6 7 8x
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p
X+2pi ;% 2pi
COS"‘(X"' 27|) :#
_ee+ee”
2
e =e¥ =1 )
cosh(x+ i) = ¢ Jrzex
= cosh(x)
E sinhx p
sinh(x+ 2pi) = sin{x)
tanhx p

tanh(x+pi) = tani{x)
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1,1752
3,7622
0,9951
0,6481
0,2757
1,0373

%

5cosh X
43 sinh( x“)
2xtanhyx +1 ¥'? sechy/ x

4 2
—cosech—
X X

2
- 2X—secf(x ) tant(x2)+ 1

X2 +4 X +4
- 6cosech( 8) cotanh@
3tanh( X)
(3x+1) sinhy/ 3¢ + 2+ 2

V3% + 2x+ 2

- 2tanhx sechx

(tanh2 X+ 4)2
sech(x)

%cosk( X+ }+C

In (1+ sinhx) +C
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1

§cosr(x3) +C
# ZCosh& +C
$ - %coth( X+ C
% In(sinh(x))+ C

& %cosﬁ x+C

%sinh(x)(cosﬁ(x)+ ?+C
( arctar{ cosfx))+C
) -sechx}+ C
I8N

118

3/2

# 2xartanh/x+=x"—
2 1- x

- 4X
x'- 4

1 2x><arsecrﬁx2) 2
C+d (x2 + 4) xy1- X

17. x=0,12565 X = artanh 1/8)
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1arsinh 2—7X +C

( 0,0125554£artanh2 5
18 9

) -0,0277374i artanh3 - artanh—9 5
18 12 10

X

I arcosh% +C

2
n - 1arsechx— +C
4 2

" arsinh)%l +C

I# O,28964%(arsin|‘(3- arsinfy )3

1% (5 m, 18,1343 m)



